normalized X2

[ normalized x? probability |

chiz ThiZ_prob
Entries 120 F T T T T T Entries 120
Mean 1.268 Mean 03796
Std Dev 06216 0.16 Std Dev 0323

Chiz. 0.14F Chiz_prol
Entries 110 Entries 110
Mean 1.319 Mean 0.3565
Std Dev 0.6493 0.12 Std Dev 0.3152

chi2 chi2 Erub
Entries 110 Entries 110
Mean 1319 Mean 0.3565
Std Dev 0.6493 Std Dev. 0.3152

Ratio

%8 010203040506 0.7 08 0.9 1
Prob(x?)

< x2/ndf >
n
ul

m=m== DQM_V0001_R000000001__Global__cmssw__RECO
3. | === DQM_V0001_R000000001__Global_mKkFitOriginal__RECO
s DQM_V0001_R000000001__Global__mkFitNew__RECO
2 5 [ === DQM v0001_R000000001_Global _mkFitNew05_RECO

Re]
T
o
0.95
A A
5 k<]
{=4 c
N y
> >
Vv \%
k) k]
T T
14 4
0 3 2 — = 1
10° 10° .10™
AR(track, ]ejts)



	Contents
	Page 1


